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sewé@LiLglediuey / ACCOUNTANCY

( 50D wHmib ke aifl / Tamil & English Version )

&M Sjerey : 3.00 waentl CHILD | [ Qurss wdlCuerser : 90
Time Allowed : 3.00 Hours ] [ Maximum Marks : 90
Sidleyenrsst : (1) <masg elamssEsn silwurs ufeard o darsm ereamugemer
sflurrsgé Qarereraid. fslLSleled Gmnuiminder mmsé
sansrasiiumerflib o L eanguiras CshelésseyLb.
2) Beowd deg &sBUY awllamar b HGCWL erHeusnEL0D
145GEM(HeUsHEL LweruBhSs GeuamBd. LILBISET uanTeush(,
Guerdled LweTHSSE]LD.
Instructions-: (1) Check the question paper for fairness of printing. If there is any
lack of fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to-write and underline and pencil to draw

diagrams.

LU@Sl - I/PART - I
GOl (i) Siemensgl famss@rs@n el weflEse]. 20x1=20

(ii) Gsr@ssuul(perar wrHm el sailed Wse b egHyaLw
allenLarws CsrbEsOsgs GMuilHear ellauliamanyb Gergs
GT(pSAYLD.
Note: (i)- Answer all the questions.

(ii) Choose the most appropriate answer from the given four gltemaﬁves
and write the option code and the corresponding answer.
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. 5““‘.“@9.,@“’@“'5]@601 DIDLAITETLD &ITamwTeLD.
' ' T oy
(1) BHS Qsrens - oprefl @erub X arhsosrams
Gepuiler pHGUWIT smyanflifier sHCLTeSL wHLIL
(<) syrefl @ooru apanpudes

BOQUWIT

grrefl @erun X Qererpsad

gyempsafien cramaiéons

(@) &L@ srma Qe - &Lpegref Qarub x Qararupse
Qopue pHAuwT Spandseflen eramafsamns

(m) 2wk Qeru wapuie
BOCLWT

2 W e X Garearpse
ahaaflen eremanisans
Identify the incorrect pair.

(a) Goodwill under Annuity -
Method

(b) Goodwill under Average .
Profit Method

Average Profit x Present value
annuity factor

Average Profit x Number of years

of purchase .
(c) Goodwill wunder Weighted - Weighted Average
Average Profit Method Profit x Number of years .
of purchase

(d) Goodwill under Super Profit Super Profit x Number of ye ais of
Method | . purchase

2.  urergd whmib &Gy eregyb gl Lreflser Qeru BL-Laigamar 2 : 1 Gremm. -
dflssded vdlitg Osrarar. Sfelfigadr (Su_lrr@a;a'g: ereLIaIany
L Lmamepiouler Ceiiggis Qerem e, Lreomss), HuwCaoe HnD CurCsedler
UAw Qaoruls udlie) eldsb-3 1 1 1. urers) whmb sGoadlar &uwirs
Nflssmas samsdlLeyb.

(@) 2:1 (=$)1:3 (@) 1:2 (") 3:1

Balaji and Kamalesh are partners sharing profit and losses in the ratio of
2 : 1. They admit Yogesh into partnership. The new profit sharing ratio
between Balaji, Kamalesh and Yogesh is agreed to 3 s 1:1. Find the
sacrificing ratio between Balaji and Kamalesh. ' '

@ 2:1 b) 1:3 (c) '1:2 d 3:1
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wereyfleniols Lk ereng)

() Heoowra ddssda LESTSTUD unsHaTar wWareyfabeamul]
Cupm Lk,

(i) se@ouler Gurg ung WD HHLUL Cupeasparear
waraflenwenws QuHm LIBRIG.

=) (i) wHmb (i) fwreng

(

(=) @) LG eflureag)
(8) () whmb (i) seupTaTana
(rF) (i) bW sfwurearg

A preference share is one :

(i) Which carries preferential right with respect to payment of d1v1dend at
fixed rate.

(ii) Which carries preferential right with respect to repayment of capltal on
winding up. : S : R

(a) Both (i) and (ii) are correct
(b) Only (i) is correct - = " R -
(c) Both (i) and:(ii) are incorrect FE o g
(d) Only (ii) is correct o
wppewGunT uSHCa@sefler @mmurr@asen Qarirurear Yemeu(m Gr;r;g, &inﬁ)gj
geupnevg| ?

(@1) u@(ﬁm@asm @mg)u_lrrasu ugrrmrﬂasasuul_rremo

%)@@uunwm g,u_lrrrﬂuugj asmremn ‘ e i
(8)) BeumISET LOHMILD GaLDFI’ELq.&BGb)GlT TellsTes 5rsasm_@u_| (PlgLD.,
() ewrurysdlen Hldlblaansd seEm_MHge &igqeb.

Which one of the following is incorrect regarding the limitations of incomplete
records ? _

,,,,,,

(a) - Lack-of proper mauntenance of records
(b) “Difficulty in preparing trial balance.
(c) Errors and frauds can be detected eas1ly

(d) Difficulty in ascertaining financial position.

[ Spliys / Turn over
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5. uwarflen CaameusCapu surfssiL@nb samsdud Sifbosurearg :
<3l) QEwLiumiey
(<) udsonear Hamrédidm D&
(@) @ouyflens Gy
(7)) @ILALL Corés <iflsms
Accounting report prepared according to the requirements of the user is :
(a) Trial Balance

(b) Routine accounting report
(c) Balance Sheet

(d) Special purpose report

6. &miLrefseflLllmpg Hoeuand sldrsar QUDPNHHSTD, UGS TEEHES
QbW s Lameniog sLLLD, 1932 -a Lig quiprastiL@D ity eigib @ |
(=) pamhas 5% () amp&s 8%

@) DS 6% (m) aim®EE 12%

_' As per the Indlan Partnershlp Act 1932 ﬂle rate of lnterest a]lowed on loans
-'"-‘advanced by partners ist'’~ (TR AR T TSt}

(a) 5% per annum (b) 8% per annum -7 T

(c) 6% per annum (d) 12% per annum.-, .

7. yp-28 Qurmliyser erell(heug
91) @eorubd FLGD Smar Lk 2l (@)
(<) GoEwsTEs sLer STEGEWD Span-ih! s s D,
() Qewe Slpen
m) BarLsred sLar SiEE0n Se
Debt equity ratio is a measure of : WL
(a) Profitability e O ey Y
(b) Short-term Solvency |

(c) Efficiency
(d) Long-term Solvency
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a® Apwsdar fiaws samwaw Cerdlés pssdr abs ol smsd
Lweru®h gl ?

(i) olerrey efgid (i) Bay e ez
(iii) Up-eis Qurgriyser s () B aflélgib

(<) (@) wHmd (i) (<) () HOmID (i)

(&) (i) whmid (iv) (FF) () wpmb (iv)

To test the liquidity of a concern, which of the following ratios are useful ?
(i) Quick ratio (i) Net profit ratio

(iii) Debt equity ratio (iv) Current ratio -

(a) (i) & (iii) (b) (i) & (n)

(c) (i) & () @ B &

. @lLramenlo ﬁ@mmgﬁ@ﬂ@mgj am_L_rrGrﬂ aﬂm&sﬁlm@un@ ua‘;]rr‘r_r)gj ngIIT

@erUREET WHHD HLLEEET a%u.urerﬂ&s@a;@ - <Siig ULl

udriu®Eng.

(<) @smu eNdgn o
<) HHw @erul udia) ef&lsD
(R) Hwrs Qs

() uerpw @eoruts Lglie) eAESn o i s T e

On retirement of a partner from a partnership firm, accumulated profits and
losses are distributed to the partners in the :

(a) Gaining ratio
(b) New profit sharing ratio
(c) Sacrificing ratio

(d) Old profit sharing ratio

[ Sawlys / Turn over
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10. Aeeu(mld eurswukisefd 618 sflwnengeoen ?

11.

(=) Gurgey UELUMLGey eratug @rramged Ograssald gHUEW
LOTDMEISEET iy Csliganad GHLILSTELD.

(=) @HLyser LYWL Ulgwdserh Hdfloe fsossalda LGS
2, dletmen. ‘

(&) Qurg 2ieTey SiMlsams fo Qurg SigliLamLgmers Csram® LoGeaum)
Qamuseiar Qzr_i9amans &M (Heusm@. @eucilamisar Qurg ieTe
SAgUuemLar sgeldsrs srlL_Liu@deamer.

() Hfblare S Gen s u@LuTieiar smelseie QUTE o6re) obsams
2 GTEITL IR (LD. . '
Which of the following statements is not true ?

(a) Trend analysis refers to the study of movement of figures for oné}:year.
(b) Notes and schedules also form part of financial statements.

() The common-size statements show the relationship of various items"
with some common base, expressed as percentage of the common base,

(

(d) The tools of financial statement analysis include common-size
statement. Gass L L 113

ey Bg ey, s Bgl cully wHmbd earduwib s055 96 2 arer @eamLith. -
¥ 10,500. sidg eramp salLrafl siflois@inder o arer By Qerusdé 5%
siflay Gup o Mueurmier, sifleys Osransmu sam_fuian, g

(1) T 550 (=,)% 50 (©) T 500 () T 150

Profit after interest on drawings, interest on capital and ’re‘muneration 1s
< 10,500. Sangeetha, a partner is entitled to receive ,commission at.5% on .
profits after charging such commission. Find out the commission, -

(a) ¥ 550 (b) 50 (c) 500 T Z 150
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12. @@ SalLmafl AosdaCurg <sTw Afssddar Hiamub Ts5HG

CsemaulLBEng| ?

(@) LATBE SrT Geruisd LMD HLLhisamer udlrsseliLsnE

(=) poCLwey sissl(HeusnE

(@) wLHWHIGH Qerubd SOOF BLLLD wrHniubeusnes

() CunsearL ergeloeama

At the time of retirement of a partner, determination of gaining ratio is required :

(a) To distribute accumulated profits e.nd losses

(b) 'I‘o‘ adjust goodwijl - |

(c) To transfer revaluation profit or loss

(d) ’NQ,I‘IC o“f_th_esbe_ :

13. ;F;]Q Grafr@uo Glgmed @';j)]uéﬂ@eugj o e e o

gf;]emeu& Q&rrg,g,jasm :

(e;sp) g;t_ul_u_J QLIITQ]LJL[&SGT |

(@) Bam_sras Cersgisar

(FF)- E@m-(y)e‘wm (_L,ogsm" il gt
The terrl1 ‘fund’ refers to ; ] ; P T
(a) Fixed assets

(b) .‘Curr‘e.nt liabilities
(c) “Nc-)n"-CI-J.r'rent assets o " _-; ik 2 ot

(d) Working capital

A [ Sipliys / Turn over
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14. Z]'I&@@U'-l LOODID Werent & AoaybiL Qoo sdT prese
FTSE)S&ET aTan BiepsslILGEDS:

15.

16.

_(d) Real Account

o e BLLUL|E

B8 () s

Current assets excluding inventory and prepaid expenses 1S called
(a) Funds (b) Reserves
() Quick/Liquid assets (d) Tangible assets

Wweowelupr ufCau@aamer QUTFIeuTS LgmoflSel @ -
(<=1) Al jerellevmen gevsflgyem cuanflaid
<) Blmioid

(@) uemarr_(h Hlmeuehiser

(FF) <ire , = SR, |
Incomplete records are generally maintained by : 57 oy, R
(a) Small sized sole trader business

(b) A company

(c) Multinational enterprises

(d) Government —

Aupg@sdr Hpb AQBFOSET SWEG FO5 o i o
(=1) eremi SaSG e s e
(%) G]UUJU-GTT@-I 56601-&;@ o - . ‘_:,"i.u ;’WI i _d:\t |

@) GrBfEse st seks
() Q&rgsl SETES - TR

Receipts and payments account is a :

(a) Personal Account ) A‘ --' S iz

(b) Nominal Account HILW L T urens (s

(c) Representative Personal Accotint

Scanned with CamScanner
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@M Qurg eerey @mUL Haws GMLAD, Bam_srai Qersgseian soeisL0
75 Grenﬂeu gbl_uq Qgrrg,gja;aﬂm 6525@9{1@ GTeueUeTaY ?

(1) 25 (p) 175 (@) 100 () 125

In a common size balance sheet, if the percentage of non-current assets is
75, what would be the percentage of current assets ?

(a) 25 (b) 175 (c) 100 (d) 125

céitiugle; sremreed eraH@E LWALGSSLLGEDS ?

(<=1) Sidlsensser

(<) seaaiols Lflay

(8) Qenggiser sL@EE g

(FF) <Sigietes e igHens aufludlery QHHE 6T®$5§> Q'TWELD
Contra voucher is used for : ]

(a) Reports

(b) Master entry

(c) Credit purchase of assets

(d) Withdrawal of cash from bank for office use

o Wi @eruibd 19emau(hHLd Qe HELD @Qer_Guiuitar CaugLm_n@u.

<) grmsfl @aruib WHYID STHTFERT GaTLi

@) B &migen QeTUD WHDID &urr&rﬂ @Gurrum
) Qersgiser OO Cummiiser

Super profit is the difference between :

(
(<)) LWeTLRSSLILLL (PS LDHMILD emrr&rﬂ @a)rrum r
(
(

~ .
v (0% l"(‘

(a) Average profit and normal profit
(b) Capital employed and average profit ,
(c) Current year’s profit and average profit

(d) Assets and liabilities

[ $Lins / Turn over
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20. au@peumL LODID  Qeoelars &mTHG g’u'””ﬂé;

SUUB ST  EPELD

STLPHlwliu@eug) ;

(@) B8 Hevaw
Income and Expenditure Account is prepared to find out :

(b) Profit or Loss

Cash and bank balance

() Qs wHpId A HOUY

(@) Surplus or deficit
(c) Financial position (d)

L@&& - II/PART - II

sremeuGgnid 7 eflamisense edmLweiésa)b. dlarm aram 30, -G

GBI :
Tx2=14

SIS cileL weféseL.

Note : Answer any seven questions. Question No. 30 is compulsory.

21.

22.

23.

@eru Crrésnm enwlider QuUimmer SreyL. :
N P oL as s Sed e 6 s P

State the meaning of not-for-profit organisation.

gl Lrafll @pauEE Wse g el Si@indés CupOsTerer Coudirigul .
GOLCULHL ufley ereer ? 8 BT i) AL
What is the Journal entry to be passed for providing interest on capital to a
partner ? ),

@Loni erep sl Lmafl 2018, erliped 1 Sidmgy ¥ 20,000 T(W5516 QsrawrLm.
er@liyaer g el HETHES 10% eran sewddl i @mdvr@ﬁ. 2018,
gsbui 31 ey T GUUSET BE ey sawsdeyn.

Kumar is a partner who withdrew ¥ 20,000 opn st April 2018. Interest on

drawing is charged at 10% per annum. Calcylate: ifitere: e _
315t December 2018. rest on drawings on

Scanned with CamScanner
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ahl‘_LTITGIfDTGG)LD Ageargde pHAuLmr LHALEABL preng @pHoasmans
SreyLo.

tate the four circumstances under which i . .
goodwﬂl of a par
valued., P tnersh1p firm is

S L-D,Il")QIL'D S|(THET GTaLd Snl L TaTSET penpGw 3 : 2 ereild alldlgsSled @evru
BLL-Ei&aer Lding eupsant. 31.03.2017 Seim Wred eraruaiamy
sl Lreflurs Gergsant. et Coipg prafler Fmear g@safler sriy B
% 50,000 ecrams sriquigl. sy ffleow uflipsalss GHUCLLGL udle
STLD.

Anu and Arul were partners sharing profits and losses in the ratio of 3 : 2.

On 31.03.2017 Malathi was admitted as a partner. On the date of admission,
the book of the firm showed a reserve fund of ¥ 50,000. Pass Journal entry

to distribute the reserve fund.

LITBI(S GTEIMITE) GTETen ? HSEH CUESEENET 6T (LS.

What is a share ? Mention its types.

pllE Qensgsen T 8,00,000

: ;_r;l_uqu.@urrgjuqam Z4,00,000

pLUL edssms sansslajb.

'C};‘L‘rrent ‘Asseti ¥ 8,00,000

Current Liabilities ¥ 4,00,000
Calculate current ratio.

[ H@plys / Turn over
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28. saUSHILGD H56UD SienWLIL eraTDTE ereaar ?

What is Accounting Information System ?

29. SATESHWED N EDESSHET GTemTEd Grevam ?

What are accounting reports ?

30. Gl LTerenid cvqlq_uuem_uﬁ]a) pLg,g,uu(@m R msovﬂasg;,é;\m G)S]emmmasm
L9l eoreu(HLOM ).

(=) Fligui@eoruid : 2016 - ¥ 30,000.7 -

I hoa

(<) 2016 -lLd 2, 60Tigq 60T @Gurrug,éleu Q@mug Sy Hlspm m@mrremm
% 3,000 GaiibgleTens. _ _

sfl&sr_ LUl L @@mpm,,&,g&&ré;é{l@é{f T T e -

The following p?rticulars are availajble in respect.of a business carried on by
a partnership firm. - ’

(a) Profits earned : 2016 - ¥ 30,000.

(b) l_:__Prqﬁ‘t pf_ 2016 iricludes_ a non-rgcurrihg'income of ¥ 3.000

' + -+ i

Calculate profit after adjustment.

Scanned with CamScanner
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L@S) - TI/PART - III

GPILY : aenauGuend 7 elamss@ss@ alloiwallésab. eilam eram 40 -&@
SLL_muwrs efemLwaflsse). Tx3=21

Note : Answer any seven questions. Question No. 40 is compulsory.

31. floe Sfswms wpmn QLY Hoed @@uqe@m Qe CGu o cTer
Ceupun@senars sreyn. (FCsaid dpanm)

Differentiate between statement of affairs and balance sheet. (Any 3 points)

32. Tally.ERP 9-e @m(%u @.IGIS)IIU.@.IH;&SLJLH_I_ Gu@u@a;m wrenel ?

What are the predeﬁned ledgers available in Tally. ERP 97

33. Garaumb eleurhiser @ sussdear 2019, woris 31 -y, préerr@
(Pl W a@mHEEGMNL eumheumls HmD Csweiars sarésld ereieumm
Ggrrsmgum ? A

2019 & 31 c%}:bw ;_T;rr@eﬂrr@ (yamreuml_um e;;,m@a;@rﬂu_l Glugjg,euasm
LOHND CFNISHOEET SeTES : ‘ .

o ' (1]
ClunIZES6T N T U Qeadigeomen |- T

B:‘D‘Q';ﬂ'

2017 2018 o eaurtad B 5:0001 o olclaliovn aun el T,‘«”( j;m,t ? r

2018 - 2019 48,000 B e

2019 - 2020 3,000| 56,000

QésmssHed 300 i@juﬁlmrrasm & Graantr, @m‘am@@"@ﬁb‘ %m@& 'F;Bgr'r& e
¥ 200 Qeq)dgFlemmet. @)emen)b G]uy_o@mmrq.u 2017-2018 - agDLo %m@asa;rrm
sngm T 1,000. Jiryee e by Hione] srefinis

A [ pliys / Turn over.j"‘j
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diture Account
How the following items will appear in the Income and Expendi ‘

of a club for the year ending 315¢ March 2019 ?
nded 315t March 2019

Dr.ReceiPts and Payments Account for the year € Cr.
Receipts 4 g Payments %

To Subscription

2017 - 2018 5,000

2018 - 2019 48,000

2019 - 2020 3,000| 56,000

There are 300 members in the club each payiflg an annual SUbSCﬂPtclﬁré ‘?f
¥ 200 per annum. Subscription still outstanding for the year 2017-2 is

< 1,000.

34. wenaner wHDD @rGay erayb gl Lreafllsdr 3 1 1 eT@id g @erub
Hmb Bl Esmer LATHE eubsart. 2017, glrd 1 Siemy SieUTs@hmLL
wse : werarear I 80,000, @rGwey T 60,000 LHOHID SHEUTHET HLLILE
sams@ser WenGu T 10,000 whmib T 5,000 eren aupeii(pLienUIs SMiiqLigl.
2018, wmitd 31 -=pid HrEeTH (pigau@mLib HamhEEhiu wad By ey
2 @TDES 5% samsdl () ghHsrer GHLICULHL LHesamend Freib,

Mannan and Ramesh share profits and losses in the ratio 3 : 1. The capital
on 15t April 2017 was ¥ 80,000 for Mannan and ¥ 60,000 for Ramesh and
their current accounts show a credit balance of ¥ 10,000 and ¥ 5,000
respectively. Calculate interest on capital at 5% p.a. for the year ending

31st March 2018 and show the journal entries.

35. pp@uwenys Storails@L gCa@Ib ety sreflsamens syeytb.

‘State any three factors determining goodwill,

Scanned with CamScanner
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U sl Lrefl @maey CarlusHETs, @O Hpeand 4 gar@esar gymef
Qarusdo 3 oyar@sdr ASTEESD Tarp SlgluemLudd smd gymal
Qorusdean LuauESH, pHALLET LHLAL (piey Calggl. 55 PTG
gar@seiar @orumsdr LHOID SpsHs BaTOsE@ssTe Hapse
Yemeu(miomg :

eleunid 2015 2016 2017 2018
Qe R) 20,000 22,000 24,000 28,000
Hlenm 1 2 3 4

po@uwfler wéiepus Sam&E L6 LD.

For the purpose of admitting a new partner, a firm has decided to value its
goodwill at 3 years purchase of the average profit of the last 4 years using
weighted average method. Profits of the past 4 years and the respective

yveights are as follows :

Particulars 2015 2016 2017 2018
Profit (3) 20,000 22,000 24,000 | = 28,000
Weight 1 20 |3 4

Compute the value of goodwill.

. Csrellbs whmib CaTumed @He(HLd G Fnl L TETeL Bimeuangdled 5 : 4 eramm
AdssHd Goru plLsms LAibg epgar. Slauisdr Gradb e iaiey
sl Lreflwurss Cargsant. Carelps san umdd 2/9 urssamzgub, Carume
ser LUkl 1/9 urssdaanybd @raffipsrs Sursd Qawdleampent. LS
@erult ufie) elfssmsub, Hurs aldssmsud SHETEE L6 LD.

Govind and Gopal are partners in a firm sharing profit and loss in the ratio
5 : 4. They admit Rahim as a partner. Govind surrenders 2/9 of his share

in favour of Rahim. Gopal surrenders 1/9 of his share in favour of Rahim.
Calculate the new profit sharing ratio and sacrificing ratio.

[ HLiys / Turn over
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38. sGemeiy crémuaufiar 31.12.2018 prevan efaurmieer AeIGLIE /
_,,/""‘"—7"—_——
sfleurid S oSleurd N

Qs 5,000| - comafted 16,000
Fy&Slmiy 18,000| g _gf5Ggmit 9,009
QumsHETw LrHmEE @G 7,000( 6 m1d) Qrr&sid 24,000
<3| GV D HEV T 3,000| Qg @M wrHpEEH 6,000
Bl wpmib s L ksar | 30,000

2018, 198U 31 -y 1b prevenw Hleanay iPl&S swmilsg) DABBHTEETL (PSEND

SETSEILGYLD.

Following are the balances of Ganesh as on 31.12.2018.

Particulars 4 Particulars 4
Cash 5,000|Debtors 16,000]
Stock of goods | 18,000 Creaitors 9;000 g
Bills receivable 7,000|Cash at bank | 24,000
Furniture ~ 3,000|Bills payable 6,000
Land and Buildings 30,000

Prepare statement of affairs as on 318t December 2018 and calculate Capital

as on that date.

39. Tally.ERP 9 -& @amu BLLSamEams ereueury LimteauudDeus) eramians
oller&EaLD. :

Explain how to view profit and loss statement in Tally.ERP 9.

Scanned with CamScanner



17 4757

40. Qeupdl wHmd Qrepdls, BB FmLLrallsdr. oeursear 3 : 2 Tl
85580 @arun LHips pSET. Sleuiserg 31.12.2017 pratdrapw

Amuy Rews @iy Gereumern SEbsS!.

Qurmiyser 3 N Clens g sem 4
PSO &EwTE (& &6T E7&E (mLIL 30,000
Qeup| 30,000 I o Eon 10,000
@uesdls| 20,0000 50,000\ eng Qréaid 35,000
sy B8 5,000
upue sLatbCsmy 20,000
75,000 75,000

01.01.2018 Sianm @A erarueui Fimetargdler Ul gL raflwurs Cardpm.
(i) @fwur % Qarul uidpsrs T 10,000 1psad Qsreah A,
(i) efssl Psaée War Hneuargdlen wmidUib ( Garuw I 6,000.
AW gl L refl CaisemssEller Bimeuarsslen s L refseflen s samméms

St ClFwe]L.

Vetri and Ranjit are partners, sharing profits in the ratio 3 : 2. Their balance
sheet as on 315t December 2017 is as.under.. - :

Liabilities 4 & Assets 3
Capital accounts 5 N Stock: 30,000
! Vetri| 30,000 Debtofs g, 10,000
| Ranjit| 20,000| - 50,000|Cashinhand - - | - 35,000
Reserve fund 5,000
Sundry creditors 20,000
75,000 75,000

On 01.01.2018 they admit Suriya into their firm.

(i) Suriya brings ¥ 10,000 as capital for % share of profit.

(ii) After adjustment, Revaluation profit ¥ 6,000.
Prepare Partner’s Capital account after admission.

[ Smuys / Turn over
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Tx5=35

GO : Siewensg eflamisEnseh L walsse|b.

Note :

41. (=) @rien udlay wevn LHMID EPPELELDT U,és]@@i@&@é;@m

Answer all the questions.

@E»DI_GUJ

2 eTem GeumumrB&eT wreneu ?

JETTNENY:

(<) Qeau@pd ssuasadmhs ewi Gorusdlamar 0P 6V S T LD T & & G

(b)

awpanpulles pHGLwWfer iy saTssley.
(1) vweru@GSsuuLL wpge T 4,00,000.
(i) eTgTrew @eurru eldlgd 10%.

(iii) @evruwb 2016 : ¥ 62,000; 2017 :X 61,000, 2018 : ¥ 63,000.

State the differences between double entry system and incomplete

records.
= ' H

OR

From the following information, compute the value of goodwﬂl by
capitalising super profit.

() Capital employed is ¥ 4,00,000.
(ii) Normal rate of return is 10%.

(iii) Profit for 2016 : X 62,000; 2017 : ¥ 61,000 and 2018 : Z 63.000.
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42. (1) ybysrt Qesdu warmgsler SpEsTanid sHeubsafadl(mbg 2019, WM&
31 ~gyb prlarr@® pya@LLD Ra@rGsGiu ungoaer wHOHID
QeqsshseT samsdaas W QEliwa]Lb.

eSleunid 3 edlevid <
Qsr_d&s Qrrés @@Ly ; : 20,000
(1.4.2018) 5,000| BT G0PS ’
aurid) Guoed euanyliLiHm) L@l LTfigse pgi
(1.4.2018) 4,000 |4gILI9556 2,500
=SHee DD CursEGursgF Qemajsar 2,750
eT(LgGI ClLm(meT 1,500
il ly. QeaisHug) 3,250\ gsamiser aurmiidlwg) 10,000
SIS peneow
SRser el 1,000
P50 s AEZEE L] 4,000
S mietory. eumrhiSwg| 1,500 | uebeuens auyeysar 750
QsmHUL Couerig Wi | <SITALBBHE QuDp
FDLIGTLD 2,000 | reflwib 6,000
5l BmenL
i :?"*@;5 L8 | fpmems. elbs 1,500
QubDG 2,000
o _ &L WBgmer
@oflu, (P& SLLawrd 1,300 . ,
Gauliprad 2,000
cumidl Qr&sid
(31.3.2019) 2,000
9{6V605)
A [ $lmLiys / Turn over
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(<) SI@amer Apingan 31.03.2019 - b preverus Weraimh QoI Baows
SOLENGES (i) o Mewwrar edfsn LHmb () s 2-Hsl Hpdr

NS semsdeyb.
SiGamen Bineuangder 31.03.2019 -yl prevemt Ui Hlenas G

eSlevurid <
L UBG tpogand whmb Cumrmitiyser :
L. LBIGSTTT Bl
(<) uniE s

Grirenwo LIS PpsD 1,50,000
8% wpanayflaniol] LIBIE (S 2’90’000
(=) sTiILSET HMID 18ES) 1,50,000
2. BewrL smeoll GlummLiLser | :
BT srevs sLensdr (9% sLafl (U1 LSS ESET) 4,00,000

3. pLUy Qumgiiiyser N
(1) aurdlulelmpg Qupm Goidi 351605
SIS a;l_nga;siT | ’ P P

(2)) sesEGS6T @wm @&@gg@meﬁmqmmmgm 75,000
QLTSS - 10,00,000

I.  Gersgseer :

L e sme Gemggibeer

Blened G]érrggj‘a';m " 7,50,000

2. pLUyS Qenggiser | .
 (eremboiy 0,688
(<) BaTSESaT (aLd Clum Caueiig\LIenagaT 1,00,000
(&) Qrréad LHYD QArrEssEDE SIS 27,500
B () @& pLLUILE CeTsgise | 2 556

Qe sar (padl g & tFgsslug)

GLomgsLD 10,00,000

1
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(a) F rom the following particulars of Poompuhar Literary Association, prepare
Receipts and Payments account for the year ended 318t March, 2019.

Particulars 3 Particulars 4
g:f;igig:s;);% hand 5,000| Subscription received 20,000
f:?; c())\ﬁl(-)ilj;f)tlg 4,000|Repairs and re;lewals | 2,500
Printing & Stationery 1,500|Conveyance Paid 2,750
Interg st Paid 3,250|Books Purchased 10,000
Sale of Investn_;lents 1,009 Insurgnce Premium Paid 4,000

750

Purchase of refreshment 1,500|Sundry receipts

N 13l
- L s

Outstanding sélary - 2,000 Government grants received | - 6,000

Endowment fund receipts 2,000(Sale of ‘re‘ffe‘shmehfs 1,500

YR YA N 3 R
O, UT

1,300|Depreciation on buildirigs 2,000

STy

ST R

Lighting charges

Cash at bank on 31.03.2019 2,000|

"OR

[ Hmuus / Turn over
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(b)

22
From the following Balance Sheet of Arunan Ltd. as- on 31.03.2019,
calculate (i) Proprietary Ratio (i) Capital Gearing Ratio. |
Balance Sheet of Arunan Ltd. as o1t 31.03.2019
Particulars . j
L. Equity and Liabilities - -
1. Shareholder's Funds
(a) Share Capital
Equity Share Capital 1,50,000
8% Preference Share Capital 2,00,000
(b)  Reserves and surplus 1,50,000
2. Non-current liabilities
Long-term borrowings (9% Debentures) 4,00,000
3.  Current liabilities
(a)  Short-term borrowings from banks ' 25,000
(b)  Trade payables 75,000
Total - - -|---+-10,00,000
II. Assets:
1. Non-current assets
Fixed assets A 7,50,000
2. Current assets ki
(a) Inventories 1,20,000
(b) Trade receivables 1,00,000
(c) Cash & Cash equivalents - 27,500
(d  Other current assets |
Expenses paid in advance . 2,500
.« Total 10,00,000
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43. (@) @ramn edaupisdmbs <ILgD a@ruy Hnwsddr ouiSeE
umwrer faamsmu s GlFwab,

o y 2015-16 2016-17
ol ?) ?)

clpuenar eped QuHD aumaML 3,00,000 3,60,000

Q8T au(mwmend ~1,00,000 60,000

Olgaayser . 2,00,000 . 1,80,000

Gu@ujrrm auffl e 30% 30%)
S|V60F| )

(=) pprafl wppbd Cogy QMaumL @@ smiLramenn BHneiansder
sl Lreflser. qprafl &fleaise e 2 drer Hlar Qarusdd 10% sfleuns
Qup Ceuam(pid. Cog) sifleyé e e 2_drar Flar Garusdd 10% sfleursL]
Oup Geuaw(®b. 2019, brid 31 -y HréaTTEH iU

g ar@sGiu sfey saT&SHeusn@ peanant e arer Hlar @erub
% 1,10,000. wrafl wpmb Gegelng sr Caarqgyu sflalmans
EENESE L6 LD.

A [ Slliys / Turn over
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(a) From the followi
of Abdul Co, Ltq.

ng particulars, prepare compar ative income statement

T

Particulars 20}:)—16 20}?6)-17 ,
Revenue From Operations 3,00,000 3.60,000
“thexmcdhe 100,000 60,000
Ppenses 2,00,000 1,80,000
S 30% 30%

OR

(b) Murali and Sethu are partners in a firm. Murali is to get a commission
of 10% of net profit before charging any commission. Sethu is to get a
commission of 10% on net profit after charging all commission. Net
profit for the year ended 315t March 2019 before charging any commission

was ¥ 1,10,000. Find the amount of commission due to Murali and
Sethu. _

4. (1) sbsi wHHL &Gy erargud s Liaflsdr 3 : 2 aargb 8556
Georub ufibg eupsant. 2017, ganeufl 1 -6 sjautseafler Gy Heveds
GBI e qugmLomm : o | o

4 i
C ) - )

Qumpiiysst | 2 g QFrsgieen T :
(P SaTSGSHT s LD 25,000/
- apsit| 30,000 | @@pswear - | 13,000]
sGyaiy| 20,000 50,000|sp58m0y | 25,000|

S G 50,000 | &1_arrafiaar 15,000

QUrgISHTLIL 10,000 upspe i

| | PMDEIEEL® 14,000|
eurad) 18,000/

1,10,000 i T 060
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DIQUTEET HGLOMT GTETLIGUGNIT % @eomrud LISl D& Yemeu(pld efleurhiger

SlguueL e sl reflurs Carggart,
(i)  &@Lrr % 30,000 Wsrs ASTETE auEHADT.
(1)  wywSiSH L T 15,000.

(iii) &r&fmLy T 20,000 eran S Gu L g,

(iv) <iepsaen g T 2,000 Gsiorard BEsiiuLg).

(V) sLLLb Bg 20% Csulwrend b&aEILCL g,

HAW sl Lrefl GorsenssE e 2 6rer gt Lrefseflen PSS HMTES

wHmID @HUY BlaasEhiy swunt Qeiiualb.

EATVEVE )

(1) &@m@&-faﬂmgrﬁjadﬂaﬂ@ﬁgj errgg,& QameTIpsmand SausdLayLb.

RO

- efleurd
SR IR J

X

2017, gritiyed 1 yenm LihLia@ ‘asLet“r’(rBGg,hr’r

a;uezs"rlr,(@rrqw;g& @argug,’élu_l Q;rrra;a;m
G@éﬁw@ﬂw ommES (EE G&@J@ﬁw@
@asrrm@g;ev Q@uum

Glyrrésasé. Qs TeTpSe

2018 wrié 31 e sLebESmT

2018 s 31 e Ceaissn v Lorrg)gwaeil_@\

" 75,000|

-11,00,000

60,000

3 70 OOO

15,000
3,20,000
50,000

80,000

[ Spuys / Turn over
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Sundar and Suresh are partners sharing profit

Their balance sheet as on 1st January, 20

s in the ratio of 3 : 2.

17 was as follows :

Liabilities T ¥ m 4 T
Capital accounts : _——dm 25,000
Sundar 30,000 Furniture - 13,000

Suresh 20,000 50,000| Stock 25,000

Creditors 50,000 Debtors | 15,000
General Reserve 10,000| Bills Receivable 14,000
Bank 18,000

" 1.10,000 - 1,10,000

They decide to admit Sugumar into partnership for % share in the
prqﬁts on the following terms : \ 312 ) S
Sugumar has to bring in ¥ 30,000 as Capital.

()

(i)

(i)
(1v)

(v)

Revaluation loss ¥ 15,000. ;
That the stock be valued at ¥ 20,00(5.j

That the Furniture be depreciated by ¥ 2,000.
That the value of building be depreciated by 20%.

Prepare Capital A/c’s & Balance Sheet after admission.

i OR
(b) From the following particulars calculate Total Purchases.

Particulars

4

Cash Purchases

Sundry creditors on 01.04.2017 '
Bills Payable on 01.04.2017
Paid cash to creditors

Paid for Bills Payable

-+ |Purchases Returns

Creditors on 31° March 2018
Bills Payable on 31° March 2018 ok

75,000
60,000
3,70,000
1,00,000
15,000
3,20,000
50,000

80,000
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Spdsran i ElmE8 wanodlp wapsden Qups@seT wHLb QFQSSSeT

Seam&dlaflmha) 2018, wrid 31 ~hD BTGerr(® (plg.euenLiyid Qe (H&ETw
OUML M Qseiars samsdlamars sumlasea b,

(AT NISE0OS6T 3 OFa)s 56086 4
Qsm_és QMmUY ena@préaid | 11,000| syampseen MBS g| 10,000
URISTSTLI LD Qudps 27,600| eur_ens 2,800
Lienipu Q&u'_lg‘,}gg,frdr clpmg | 3,000|CGswai vy i 15,000
2 mulen sheT 31,000 g_;u}'r'eii‘@‘gmmassh ' 1,700
umgsriy QuiiLs R L

RUSOAI & eot 8,000| Quirgi& Qsaeysar.- 4,350
UL en& RS
Wped@sar Sgrer oy | 1,250 =58 POID eT(pgICLm(meTgeT | 45,000
<impsaar alhng ' | 5,000| senflzeha &1 L ewtid 15,000
(L6 i X 4,400) Qud QLY @sArmis 3,000
86,850 86,850
gd)mg,j—é
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() #p5®. eagre wHyb Foamen eramn
Bouensdler @erun whgh prLBE@ET 50
2018, s 31 ~pId Hrenemw @)UY ﬂaﬂ@)& ®

28

| raflseT @ Sl Lmamenty
wrell LEThg eubsart,
Pl Gereu sy :

ooy

: - —
Qurpiiyser | 2 7 QEnSSIH6T X 3

(PSSO Hemrd (s SEDEOET 60,000
&15) (5| 60,000 @Ay 1,20,000

cflamme | 70,000 LHLU® FLGTaIT&elT 3‘3‘»0'00
Twaentes| 70,000 2,00,000 5065 : PGS 6T R85 3,000| 30,000
iiﬁfﬁ?m 80,000|GuyisHE orbpesL® | | 50,000
autid) Qmésih 20,000
2,80,000 | 2_,;%0_

Pt

Ummrrm &gpa;a;mu_ ﬁu;r;g,emma;@&@LUL@ 2019 DT 31 é{mg

' &BLLL[TGUO‘I’GG)LD[LQ]G&@[_BQJ eadarrr. -~

)
(ii)
(i)

(iv)

CeuamT(pLd.

@uprib T 1,50,000 grea‘,mg\um_uur_l_gﬂ. L

Slemsear Wdllide T 10,000 GODESLILILL g,

{
|
'

LSS 515G T 5,000 -5 @{glasrﬂésasli[uL Cgeueﬁvr@‘ﬁdjl.‘

ghsetler uHwl Quprs (lpg,@ﬁ’@a;m ¥ 30,000 gpGuimg LdwiuL

Gaemeuwirar GMLIGLL(HIL ug‘,\ma;m 5pg OIS B sansE sw

QEweyLb.
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From the following Receipts and Payment Account of Trichy Recreation

Club, prepare Income and Expenditure Account for the year ended

[ dlmiys / Turn over

31.03.2018.
Receipts 4 Payments 4

To Opening balance By Furniture purchased 10,000

Cash in hand 11,000
To Dividend received 27,600| By Rent 2,800
To Sale of old Newspaper 3,000| By Secretary's honorarium | 15,000
-|To members Subscription . .| 31,000( By Postage 1,700
To Locker rent 8,000| - By General Expenses- 4,350
To Interest on investments | 1,250| -By Prlntmg & .Sgatiqhery .| 45,000
To Sale of Furniture " 5.000| ByAudit Fees " 5,000

(Book value ¥ 4,400) By Closing balance

: Cash in hand 3,000
= .| '86,850].. AT 86,850

OR
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(b)

Chandru, Vishal and Ramanan are partncrs
and losses cqually. Their balance sheet as ©

in a firm sharmg proﬁts
n 318t March, 2018 is as

follows ;
I
Liabilities 4 4 Assets
R—
Capital accounts : Furniture
Chandru| 60,000 Machinery
Vishal | 70,000 Sundry debtors
Ramanan| 70,000/ 2,00,000 io'r) dirstﬁiﬁebts
Bills Payable 80,000| Bills Receivable
Cash at Bank
2,80,000

60,000

1,20,000

33,000

3,000 30,000

50,000

20,000

2,80,000

Ramanan retired on 315t March 2019 subject to' the' followmg cond1t10ns

(i) Machinery is valued at ¥ 1,50,
(i)
(iii)
(iv)

now.

Value of Furniture broughtdown by ¥ 10, 000. ..
Provision for doubtful debts should be increased to 4 5 OOO
Investment of ¥ 30, OOO not recorded in the' books is'to be recorded

000.

e

w oy

Prepare Revaluation Account and Pass Journal entr1es ,

46. (=) Yetmeu(mLd oﬂwum&oﬂ@&@pgj LDGISb'ﬂ LHMID &eofl pﬂ@lmmasaﬂeﬂ 2019, Lorrrr&
31 -<yib préerm( Wiy eUDL LD S emTigHE e @urrgj 9|6TE QJ@LDH‘GOT
SAMEGMGMIIEG SWITT @&umm : . i

suo | " B00E | wl B
oﬁ]g)uonaﬂ @DG\)LD Gudm @J@@Jrru_l 2,00,000 2,50,000
@g,g QU(LDIETLD ' 30,000 - 25,000
Qeaay 1,10,000 1,25,000
| S|eVe0g| | - e
=) flurs AfgsH e s éls58nE0 Qe G & grer @@Jguurr@asm
wirened ?
A

——“
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(a) From the followmg particulars of Mani Ltd. and Kani Ltd., prepare a
common size Income Statement for the year ended 315 March 2019.

d. 1
Particulars Mani Lt Kan.i‘Ltd
R 4
Revenue from operation| 2,00,000 2,50,000
Other Income 30,000 25,000
Expenses 1,10,000 1,25,000
OR

(b) Distinguish between sacrificing ratio and gaining ratio.

47. (=) ury Amwsder 2018, wrig 31 - Breverw Gy Hlaad GHlLY
(eumell) Gereumlomm :

; Qsrens
efeupid ,«‘_5?
LIS epegand whmtd QummLiL&eT
L uhi@smi H
(@) Ui psed ~ 35,000
(<) sriysdT wpmb BEH | 12,500
2. Bem_amor QUImLSET 7,
BT &Tevé SLensar 15,000| -
3. pLuy Qurrguuua;m | ' [
- (1) seTEEGEET (LD G]&gzjg,g, "
(BaJequ_u_lm@Ja;m | 10,000
(=) @8 BLLiL G]urrgjuua;m © 7,500
(®) e s1e @aibEsT. |- 21000k -
PN R e errgg,u) 101 000 | , .

SIGUeUTEIG6) Gl lg Log)gjm @Jrﬂa;@' (PG @aorrum 3 25,000.
. feaueiiq 6 PSD®. Bsmen aupeumLl &;ma;aﬁh_mm !
EANME | =
(<=4) IEIGUTGU@LD g)Laqu_assma;a;mm Tally -ufléd LSley qu_lmmm
(1) pruit ¥ 1,00,000 @pseiLar GursEeaurss Cgmfle Gg,rruﬁé]mm’r
(2) urps evGLL a_lrma‘:]uﬁleu saéE gleumslul(® T 30,000 emeuuq
SO0 eneussLIUL LGl NN
(3) QrréssdnE AmmEe @Jrrrma%]ng 10,000.
(4) errea)asﬁevﬂl_ﬂ@pgj BLEEG FT6HG aummtidlug I 20,000.
(5) QuréasdnE FréE aummadug T 8,000.

A v [ dmiiys / Turn over
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(a)

(b)

32
Following is the extract of the balance sheet of Babu Ltd., as on 31st
March, 2018 :
Particulars Am;unt
Equity and Liahilities -
1. Shareholder’s Funds
(a) Share Capital 35,000
(b) Reserve and surplus 12,500
2. Non-current liabilities
Long-term borrowings 15,000
3. Current liabilities
(a) Trade payables 10,000
(b) Other current liabilities 7,500
(c) Short-term provisions 21,000
Total|1,01,000

Net profit before Interest and Tax for the year was ¥ 25,000. Calculate
the return on Capital employed for the year.

OR
Record the following transactions in Tally.
Robert commenced a transport business with a Capital of

(1)
(2)

(3)
(4)
(5)

¥ 1,00,000.

An account was opened with a State Bank of India and deposited

¥ 30,000.

Purchased Furniture by paying cash ¥ 10,000.
Goods purchased on credit from Mohaideen for ¥ 20,000.

Cash sales made for ¥ 8,000.

-00o0
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